Temperatura 
Buscando  #  ° C    a   °F                                                  Buscando  #  ° C  a  K
°F = (1.8 x °C) + 32                                                            K = ° C + 273 
Buscando  # ° F  a  ° C                                                     Buscando #  K  a   °C
°C = 0.55 x (°F – 32)                                                         ° C = K – 273 

a)  36 ° C = _________°F

b)  48  ° F = _________° C


c)  26  ° C = _________ K
[bookmark: _GoBack]
d)  52 K  = __________ °C

